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3E Exercises-Solutions
L’Hé6pital’s Rule
Answer the following questions using the L’Ho6pital’s Rule
V25 —x2 -5
11 lich2—2x— 3 13. lim al
i3 x—3 =0 X
1 I
X2 -2x-3 . 2x-2 Js 2 s 225 - ) T (2x)
lim = lim = lim lim
i3 x — 3 i3 1 x>0 x x—0 1
= lim ———— =0
x—=0 'l|25 _ xl
x _ _ . Inx?
5. fim & — U =Y 16. lim ——
x—0 X x—1 X — l
To be graded on assignment
X _ 1 _ X
].ime ( x)=].i1n€ +1—2
x—=0 X x—0 1
21, Tim S0 23, ljm 2SN X
x—0 SIn Sx =0 X
. sin 3x . 3cos 3x .
Im — = 1 — 5 aresin x ’ l/\fl - x? _1
x=0 sin 5Sx x>0 5 cos Sx =0 x| 130 1 -

Text Section 8.7



3

X
30. lim —
X—00 €x2
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(hint: set equal to y and take log)

(a) lim x¥* =
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B r- (hint: Simplify expression)
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CAPSTONE

88. Determine which of the following limits can be evaluated
using ['Hépital’s Rule. Explain your reasoning. Do not
evaluate the limit.
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a) Yes, approaches %
b) No, approachesg
c) Yes, approaches —
d) Yes, approaches%
e) No, approaches %

f) Yes, approaches %



